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B.A./B.Com./B.Sc. I Semester (NEP) Degree Examination,

March/April - 2022

ECONOMICS

Paper No. OEC2 Open Elective Courses - Basics of Indian Economy

Time : 3 Hours Maximum Marks : 60

Instruction : Answer all Sections.

À̧ÆZÀ£É : J¯Áè « s̈ÁUÀUÀ¼À£ÀÄß GvÀÛj¹.

SECTION - A / « s̈ÁUÀ - J

I. Answer the following sub-questions, each sub-question carries one mark. 10x1=10

F PÉ¼ÀV£À G¥À-¥Àæ±ÉßUÀ½UÉ GvÀÛj¹, ¥ÀæwAiÉÆAzÀPÉÌ MAzÀÄ CAPÀ.

1. (a) What is Human Development Index ?

ªÀiÁ£ÀªÀ C©üªÀÈ¢Þ À̧ÆZÀåAPÀ JAzÀgÉÃ£ÀÄ ?

(b) What is Green Revolution ?

ºÀ¹gÀÄ PÁæAw JAzÀgÉÃ£ÀÄ ?

(c) What is meant by Small Scale Industry ?

À̧tÚ PÉÊUÁjPÉ JAzÀgÉÃ£ÀÄ ?

(d) Expand - GDP.

GDP AiÀÄ£ÀÄß « À̧Ûj¹.

(e) What is meant by mixed economy ?

«Ä±Àæ DyðPÀvÉ JAzÀgÉÃ£ÀÄ ?

(f) What is Economic planning ?

DyðPÀ AiÉÆÃd£É JAzÀgÉÃ£ÀÄ ?

(g) What is monetary policy ?

ºÀtPÁ¹£À ¤Ãw JAzÀgÉÃ£ÀÄ ?

(h) What is Direct Tax ?

¥ÀævÀåPÀë vÉjUÉ JAzÀgÉÃ£ÀÄ ?

(i) What is Tariff ?

À̧ÄAPÀ JAzÀgÉÃ£ÀÄ ?

(j) Give the meaning of Liberalization.

GzÁjÃPÀgÀtzÀ CxÀðªÀ£ÀÄß ¤Ãr.
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SECTION - B / « s̈ÁUÀ - ©

II. Answer any four of the following questions, each question carries five marks.

F PÉ¼ÀV£À £Á®ÄÌ ¥Àæ±ÉßUÀ½UÉ ªÀiÁvÀæ GvÀÛj¹, ¥ÀæwAiÉÆAzÀPÉÌ LzÀÄ CAPÀUÀ¼ÀÄ.

2. Explain the problems of Agriculture market in India.

s̈ÁgÀvÀzÀ°è£À PÀÈ¶ ªÀiÁgÀÄPÀmÉÖAiÀÄ ̧ ÀªÀÄ Ȩ́åUÀ¼À£ÀÄß «ªÀj¹.

3. Explain the role of small scale industries in Indian economy.

s̈ÁgÀvÀzÀ DyðPÀvÉAiÀÄ°è À̧tÚ PÉÊUÁjPÉUÀ¼À ¥ÁvÀæªÀ£ÀÄß «ªÀj¹.

4. Discuss the method of repaying public debt.

¸ÁªÀðd¤PÀ ¸Á®zÀ ªÀÄgÀÄ ¥ÁªÀwAiÀÄ «zsÁ£ÀªÀ£ÀÄß PÀÄjvÀÄ ZÀað¹j.

5. Explain the merits and demerits of Indirect Tax.

¥ÀgÉÆÃPÀë vÉjUÉAiÀÄ UÀÄt ªÀÄvÀÄÛ zÉÆÃµÀUÀ¼À£ÀÄß «ªÀj¹.

6. Write the merits and demerits of privatisation.

SÁ À̧VÃPÀgÀtzÀ UÀÄt ªÀÄvÀÄÛ CªÀUÀÄtUÀ¼À£ÀÄß §gÉ¬Äj.

7. Explain the salient features of India’s foreign trade.

s̈ÁgÀvÀzÀ «zÉÃ² ªÁå¥ÁgÀzÀ ¥ÀæªÀÄÄR ®PÀëtUÀ¼À£ÀÄß «ªÀj¹.

SECTION - C / « s̈ÁUÀ - ¹

III. Answer any three of the following questions, each question carries ten marks.

F PÉ¼ÀV£À ªÀÄÆgÀÄ ¥Àæ±ÉßUÀ½UÉ ªÀiÁvÀæ GvÀÛj¹, ¥ÀæwAiÉÆAzÀPÉÌ ºÀvÀÄÛ CAPÀUÀ¼ÀÄ.

8. Explain the causes of Rapid growth of population in India.

s̈ÁgÀvÀzÀ°è d£À̧ ÀASÉå wÃªÀæ ̈ É¼ÀªÀtÂUÉUÉ PÁgÀtUÀ¼À£ÀÄß «ªÀj¹.

9. Explain the 1991 industrial policy of India.

s̈ÁgÀvÀzÀ 1991 gÀ PÉÊUÁjPÁ ¤ÃwAiÀÄ£ÀÄß «ªÀj¹.

10. Explain the achievement and objectives of Indian economic planning.

s̈ÁgÀvÀzÀ DyðPÀ AiÉÆÃd£ÉAiÀÄ GzÉÝÃ±À ªÀÄvÀÄÛ ¸ÁzsÀ£ÉUÀ¼À£ÀÄß «ªÀj¹j.

11. Explain the causes for the increase in the public expenditure.

¸ÁªÀðd¤PÀ ªÉZÀÑzÀ ºÉZÀÑ¼ÀPÉÌ PÁgÀtUÀ¼À£ÀÄß «ªÀj¹.

12. Explain the impact of Globalisation on Indian Economy.

s̈ÁgÀvÀzÀ DyðPÀvÉAiÀÄ ªÉÄÃ É̄ eÁUÀwÃPÀgÀtzÀ ¥ÀjuÁªÀÄUÀ¼À£ÀÄß «ªÀj¹.
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4x5=20

3x10=30


